99 & 2+ X f

Wiid P OF U DI E R

i

SN

4

4

i

Al
A)

B YR e FERiREm s 37620 - F
g

N - 2
TR 2]

=
ik
#

—

252 i BE

il

=% ,\{,;}’/—E\‘ s 11‘5{1’:‘?;%—%—;#%\%\%{& ,3 IR%}"EE’% t_,,_;i\‘g'_l— s "5"7‘\%’:\‘—3{“" T/F;bb—%‘ T “—.;J—A,\ o

itdhetr R S H R RE? (20 4)

FME R SHEDRER] G TN O R 20?7 (5 4) Gk
g ks PR E 22412 (5 4) @9 P S 0 Bl B A BK 2
(547\) (QQ)P lgl‘fl#]l}: = ‘? (5/»:\>

ERFA PR F? (54) 2R TR ELPEPZHELT 2 (154)

P RERZ BER RO B2 FORRNZ HENEKOER (10 ~60 ) @#
B2 MG (204)

FoFrokw b 2iaE g ke & 2 RRBE R KRR A R 2 Rk
BT RE | BAERZ A E G 90:}5‘7{%‘;”; @V{L(—Qr"k‘m) - Fv(—-)ﬁz‘;ﬁ
holding force (H) ? (5 4 ) &3 #%+& Holding coefficient (k)& 0 2 % ‘*ﬁi(u)? R %

(15 %)




